Amana LG4509W (BOM: P1163612W W) 11 - MOTOR, EXHAUST FAN &

BELT

(o) BN, BRE -]

10
1
12

501211
Y58047

59174
500011
58044A
20530

'Y00000000

58044A
Y31645
33562
56076
56156

MOTOR, EXHAUSY FAN AND BELT
Amana Residential Amana LG4509W (BOM: P1163612W W) Dryer Parts Parts Diagram 11 - MOTOR, EXHAUST FAN &

BELT
Click on the part number to view part

2200376

660658

40111201
Not Available
Not Available
Not Available

27001200

27001200

358160

Motor

Clamp, Motor Mounting
343481 685441

Belt, Cylinder

Pulley, Motor
MOUNT,MOTOR-LOCKING
Screw, 10-24 x 3/8 Hex

SEE NOTE GROUND WIRE
FROM MOTOR TO
MOUNTING BRACKET,
GREEN

MOUNT,MOTOR-LOCKING
Screw

Screw

Spring, Idler

Nut


http://www.pwslaundry.com/c-503098-residential-amana-lg4509w-(bom:-p1163612w-w)-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10393552-amana-2200376-washer-dryer-motor.html
http://www.pwslaundry.com/i-10394970-amana-660658-washer-dryer-clamp-motor-mounting-343481-685441.html
http://www.pwslaundry.com/i-10393394-amana-40111201-washer-dryer-belt-cylinder.html
http://www.pwslaundry.com/i-10393508-amana-500011-washer-dryer-pulley-motor.html
http://www.pwslaundry.com/i-10393354-amana-20530-washer-dryer-screw-10-24-x-3-8-hex.html
http://www.pwslaundry.com/i-10393327-amana-27001200-washer-dryer-screw.html
http://www.pwslaundry.com/i-10393327-amana-27001200-washer-dryer-screw.html
http://www.pwslaundry.com/i-10393469-amana-56076-washer-dryer-spring-idler.html
http://www.pwslaundry.com/i-10396251-amana-358160-washer-dryer-nut.html

13 500910 37001144 Assembly- Idler

15 52549 Washer, 501 ID X3/4 Odx

17 23748 Ring, Retaining

Assembly, Idler

19 500269 37001287 Lever/Shaft/Pulley

21 500822 503613 Mount, Motor

23 59500 Assembly, Thermistor

27 500313 Seal, Blower Housing

29 500078 511969P Kit Blower Housing And Cover

31 56020 Housing, Blower


http://www.pwslaundry.com/i-10396257-amana-37001144-washer-dryer-assembly-idler.html
http://www.pwslaundry.com/i-10393470-amana-56461-washer-dryer-shaft.html
http://www.pwslaundry.com/i-10392834-amana-52549-washer-dryer-washer-501-id-x3-4-odx.html
http://www.pwslaundry.com/i-10393471-amana-y54414-washer-dryer-assembly-wheel-and-bearing.html
http://www.pwslaundry.com/i-10392832-amana-23748-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10393321-amana-500824-washer-dryer-screw-1-4-20-unc-hex.html
http://www.pwslaundry.com/i-10393315-amana-37001287-washer-dryer-assembly-idler-lever-shaft-pulley.html
http://www.pwslaundry.com/i-10393323-amana-27001225-washer-dryer-nut-jam-mid-lock-1-4-20.html
http://www.pwslaundry.com/i-10393325-amana-503613-washer-dryer-mount-motor.html
http://www.pwslaundry.com/i-10393496-amana-59500-washer-dryer-assembly-thermistor.html
http://www.pwslaundry.com/i-10396525-amana-3177991-washer-dryer-screw.html
http://www.pwslaundry.com/i-10393507-amana-500313-washer-dryer-seal-blower-housing.html
http://www.pwslaundry.com/i-10392807-amana-31260-washer-dryer-screw-no-8-x-3-8-ind-h.html
http://www.pwslaundry.com/i-10396621-amana-511969p-washer-dryer-kit-blower-housing-and-cover.html
http://www.pwslaundry.com/i-10396619-amana-510139p-washer-dryer-assembly-blower-fan-package.html
http://www.pwslaundry.com/i-10393317-amana-56020-washer-dryer-housing-blower.html

	Amana LG4509W (BOM: P1163612W W) 11 - MOTOR, EXHAUST FAN & BELT

